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The given pie- chart shows the total number of boys in different school out of to
strength(4200.
faam

= @ﬁﬁ%ﬁr—l THAIl H TISohi shl el AT Sl ST o

O

P R N T
https://t.me/mathbytarunsirmepl L] L] Q u [ [ L




SBI CLERK 2023 o4l Batch (I\

Question 1- Find total number of boys in school P.

T |- To@etd P H STgehi ohl Shel G T shifST)

30

D. 2003
E. None of these
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Question 2- The ratio of scholarship holder and non- scholarship holder

boys 1n S 1s 4:3. Then find non-scholarship holder boys in S.
30 T 2- S H BEE I 9 X -BH Geh TSohi ol UM 4: 3 81 TR S H

TSR 9k ASHI I @il

A. 204
—B7504
C. 404 £
D. 604
E. None of these
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C o N & S= 504
(4 2 3)7 = 28 of 4200
F = Q04D
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Question 3- If 20% boys in school R opted abroad study in which 43 left &

the study. Then find ratio of boys in schodl Q to thg/remaining number of

30 boys who goes for abroad study.

T 3- Ffs THA R H 20% TSk [oaT H HLAIH L o foehed I & FoTeH 43
+ T BIS 33T A Thel Q H TASeh! shl I HE&AT § TorasT H UeH o foag S

Al clsonl aﬁ‘ﬁq el onl 3‘|'\iq|('| Jlid ?ﬁﬁlﬁl 7"0_;)5/:[/(?/@7
A. 121:756 —
B. 111:756
C. 125:756 15% LAY
D. 124:753

_F7~ None of these
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Question 4- Find the corresponding central angle for number of boys in T

T 4- T H AShI shl BEIT oh T1T G T he I ShIVT ATd ShITSIT)
(00 = 360°

30

7. =(360)
[00
O1= B0y
I A. 101.4°
it 360 B. :_0080
S C. 108.8°
D 111.4°

_E— None of these
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Question 5- The number of boys in P is what percent more than the

number of boys in R.

30 w1 5- P i gt 1w, R H crgeht 31 e & e wfwr st
Totaf =40

A. 10%
“B. 20%
C. 30%
D. 40%
E. None of these
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(T)

TOTAL STUDENTS =11200 TOTAL STUDENTS ATTENDING SEMINAR= 6800
—— ~

EP EQ ER ES BT m EP BQ ER ES BT m
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Question 6- Find the number of student not attending seminar in P and Q v

together.
T 6- P 3T Q H Ueh 1Y WIHAR T W A&} oI+ Tt BT ohl ST T shi o1

TOTAL STUDENTS =11200 TOTAL STUDENTS ATTENDING SEMINAR= 6800

mP BQ ER mS BT m EP BQ ER ES BT m

https://t.me/mathbytarunsirmepl




SBI CLERK 2023 N2G&T2 Batch

.f'“'_r_ _\"“»»,,
X
o R
2 b
i A\
| \
'\
J
o ~

(1) Nof 5&7‘/@7&@/ P= Jofal P- atordjzy [
A. 1124
= [679f [1R00 ~ |57 of 6900 B. 1224
= I;?Q_ /O?O C. 1624
= J72 D. 1524
/Ye 6 -
07L azé/wn/ﬁa/ &— q)q,,/ #//QOO—Q&’/, 07/6&700 _FE. None of these
= Hx)9 [ Txix68
= Y689 901, T6x
=\ 6&&
= 1556 &
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Question 7- Find the ratio between total students in R to the number of

student attending seminar in R.
T 7- R § el BB 3hl §&AT 3R R H HIHAR H WIT oA FTed ST shl ST o6

ST=1 3T STLATA 1T Shi oY
TOTAL STUDENTS =11200

TOTAL STUDENTS ATTENDING SEMINAR= 6800

EP EQ BER ES BT B
EP BQ ER ES ET B
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A 11:17
S 3077
= ' _C—22:17
ek D. 24:17

E. None of these
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Question 8- Total number of student in S 1s what percent of number of

student in Q who are attending the seminar.
T 8- S H BTN shl el HEAT, HIHAR H HIT i el Q H BT ohl HEAT 1
TR wfcrera 22

TOTAL STUDENTS =11200

TOTAL STUDENTS ATTENDING SEMINAR= 6800

N
NP EQ ER ES BT @

mP BQ ER ES BT m
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h ol e
K- porinen & A. 111.7%
- as B. 233.7%
=_/IXTHee oo C. 138.7%
S X685 . 105.8%
HL E. None of these
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Question 9- Find the corresponding central angle for student in T who are &

not attending the seminar.

5 O- T & 3 ST % 170 Tl fere SHa 10T STt S6 oy it AfEem & Wiy i &
@ gl

TOTAL STUDENTS =11200

H TOT STUDENTS ATTENDING SEMINAR= 6800

mP BQ ER ES BT m
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121.4°
161.6°
103.8°
111.4°

None of these

TN

—

https://t.me/mathbytarunsirmepl



SBI CLERK 2023 o4l Batch I\

"

Question 10- Find the average number of student attending seminar in P v
and Q.
I 10- P 3R Q ¥ AR § 9T & aTel BT ehl 36T T JTd ahifsIg|

TOTAL STUDENTS ATTENDING SEMINAR= 6800
TOTAL STUDENTS =11200

EP EQ BER ES BT B
EP BQ ER ES ET B
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344
0 ﬂwmge = [5XOH 086V

e A. 1142
_ B. 1542
{;o 5205“7[%7)(6&] C. 2362
0O =
[ O?Bé;\cg +L/‘F\éj /E/ 1462
? 3 / . = . None of these
) 73/)(?
= 69
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Question 11- If total number of student attending seminar in S are in ratio
Boy :Girl ). Then find the difference between them.
T 11-Fie S H HHAR § HIT & STt B 3hl el ST T ST 9:5

(TSHT: AShT) Bl T Ik ST 7T JT I
TOTAL STUDENTS ATTENDING SEMINAR= 6800

TOTAL STUDENTS =11200

EP EQ ER ES ET @
EP BQ ER ES BT m
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B.0= (? 5}>/9 o?/)(é& A. 122
B. 294
5 M C. 504
)? D. 212
= |/ o) _E. None of these
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Question 12- Find the difference between total number of student in R

and number of student not attending seminar in T.
T 12- R W ST shl el &1 SR T W YIHAR H HET 81 o ot B ohl
HAT o ST Rl AT JTd hifIU)

TOTAL STUDENTS ATTENDING SEMINAR= 6800

mP BQ ER mS mT m

EP BQ ER ES BT m
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D Toht R Jot a4f pomiman T= 9 M1 6
— (| X2 [ AXIR = Rx68 ] A. 1286
- 193 ) B. 1175
] [ 3473 /97{7 e 1234
= [R79 «v|91¢ D. 2235
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